Yo
I

i

e FE

a6 FE BMME FER/KEHRK) i (-14m) BKEEILE (E2R)

JupN 5 BE B

= % EPimes

1] B BIxXE
& B #BIEREE
BEo#MoS IEE
WHEES 18-21-24-037



SHIEERNRE S 0164F B PIABR R K S BOBBR (-1 4m)i kIR E T H (20
% g g - BKTE Bifr B 2 i & 8 &

EEIEZE 11,496, 776
BKEE 11,496, 776
BKEE 11,496, 776
BKEE 11,496, 776
BKEE 11,496, 776
1-1 342 AT 35.00 11,830 414, 050

R
1-2 BKEE 4T 25, 000. 00 430 10, 750, 000

m2
1-3 S|MEEERK 1.00 111, 856 111, 856

=
1-4 £BHRR 1.00 200, 000 200, 000

=
1-5 #£if 1.00 20, 870 20, 870

R
HEREE FEL) 1,541,826
HEREE 1,541,826
HBEREE 1,541,826
2L2E 1,287,736
REXE 1,287,736
1-6 RLERM BIKIEER 1.00 1,287,736 1,287, 736




BHHEENRE 4570164 2 B8 PR AR B (R B /K H R B (-1 4m) B KB A T B (H2R)

4 [} R - KT iE B #H =2 B * H =

KE - EEERRH 109, 090
KEREHR 68, 181
1-7 KEREH &Kt D270PSE! 3~5tH 1.00 68, 181 68, 181

=
GEREE 40, 909
1-8 EERIEH Bkt 1.00 40, 909 40, 909

=
BitEEE 145, 000
BifrgE 145, 000
1-9 BT ERE BREDAAE. EIXEBHRE 1.00 145, 000 145, 000

%
EERE 271,800
ERETE 271,800
THRINERE 271,800
THRINERE 271,800
THRINERE 271,800
2-1 BHRINERE 1.00 271,800 271, 800

=




EHBEEREX 464 2 B PR (R /K8 0 BRI (-1 4m)i KB B T B (2R)

£ g - BIKHE B B =2 B & & W E
BHEISE 11,496, 776
MiEIEE 2,607,577 + 3,727,780 6, 335, 357
HBERHZE GH 1,541,826 + 1,065, 751 2,607,577
HBERHZE (BL) 1,541,826
HEfREE (®) 11,496,776 x 9.27% ((7.09% x1.00 +2.00% x 1.02) 1,065, 751
Ri5EER 14,104,353 x 26.43% ((24.11% +1.55%) x 1.03) 3,727,780
THR{E 11,496,776 + 6,335, 357 17,832,133
—RERES 17,832,133 x 20.82% (20.82% x 1.00) — 1,915 3,710,735
R R 17,832,133 x 0.04% 7,132
Tl 17,832,133 + 3,710,735 + 7,132 21,550, 000
[EEE 271,800
BEEAGE 271,800
Z DR 271,800 x 42.86% ( 30% = (1 — 30%) ) 116,493
KR 271,800 + 116, 493 388, 293
—REEES 388,293 x 53.85% (36% — (1 — 35%) ) — 7,388 201,707
e T 388,293 + 201,707 590, 000
AFHE 21,550,000 + 590,000 22,140,000
EEREELE 22,140,000 x 10.00% 2,214,000
EETSEE 24, 354,000




Rifiz -/ \v7r—o

S HN64E R FIMER (B R/KE # ROMER(—14m)BKIRE T E(E2R)

&5 :1-1
&% /g AR 1TH&HY (15 14 R)
2 b g - BIRTE By = BHO(f %8 W = " =
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 54,722.00 54,722 8H
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
MR 2E0%
% 1.00 176, 875. 00 1,768
& B 1YEZRES 15104 = 11, 830. 00 178, 643
&5 :1-2
2% BKEE 4IKX 1TEHY (495.6m2)
2 b g - BIRTE By = BHO(f %8 W = " =
Bk D 270PSE! 3~5tH
B 1.00 187, 831.00 187, 831 8H
HEEEE Bk 203!
B 1.00 19, 470. 00 19, 470
MR 2E0%
% 3.00 207, 301. 00 6,219
& B YEZERES : 495.60m 2 430. 00 213, 520




Rifiz -/ \v7r—o

S HN64E R FIMER (B R/KE # ROMER(—14m)BKIRE T E(E2R)

&5 :1-3
£ MESERK 1LY
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 0.50 54, 600. 00 217,300
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
MR 2E0%
% 0.50 111, 300. 00 556
& B 1YE%HeH - 1.00K 111, 856. 00 111, 856
&5 :1-4
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%HeH - 1.00K 200, 000. 00 200, 000
&5 :1-5
&% RiE Othmayt)
2 b g - BIRTE By = B O ® # " =
Bk D 270PSE! 3~5tH
B 1.00 187, 831.00 187, 831 8H
& Hi 1EZRESN : 9. 00K 5 20, 870. 00 187, 831




Rifiz -/ \v7r—o

T F164F B2 B PIAR BR (R BRKE H ROMBR (- 14m)iB KRB TH(FE2R)

&5 :1-6
£ REBERM BKIEER 1LY
2 b g - BIRTE By = B O %8 W = " =
ZEEEMm FRP D 180PS#Y
B 9.00 103, 094. 00 927,846 /6. 00H / 8H
ZEEEMm FRP D 260PS#Y
B 3.00 117, 208. 00 351,624/6.00H / 8H
EFRVHF &1 EFEVHF 457
B 3.00 620. 00 1, 860
MR 2E0%
% 0.50 1, 281, 330. 00 6, 406
& B 1YE%HeH - 1.00K 1, 287, 736. 00 1,287, 7136
&5 :1-1
ZF5 . KEREE EKEM D2T0PSE 3~5tH 1LY
2 b g - BIRTE By = B O %8 W E " =
KEREF
= 1.00 68, 181. 00 68, 181
& Hi 1E%HeH - 1.00K 68, 181. 00 68, 181
&5 :1-8
&% EEREH BKL 1LY
2 b g - BIRTE By = B O %8 W E " =
SEREH
= 1.00 40, 909. 00 40, 909
& Hi 1E%HeRH - 1.00K 40, 909. 00 40, 909
&5 :1-9
&% HiTEEE EREDRAE. EIEEHRE 1LY
2 b g - BIRTE By = B Ol %8 W = " =
E-ARYUTRAE
I 1.00 45, 000. 00 45, 000
HEREIMAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 145, 000. 00 145, 000




Rifiz -/ \v7r—o

T F164F B2 B PIAR BR (R BRKE H ROMBR (- 14m)iB KRB TH(FE2R)

&5 2-1
2 ERINERE IEED)
£ 5 L - BIRTiE BAf = fili & % i 1%
AR (A)
A 3.00 57,000. 00 171, 000
Bifg
A 3.00 33, 600. 00 100, 800
& B 1YE%HeH - 1.00K 271, 800. 00 271,800




